

York Vehicle Storage Garage 04/18/2024 1:00:00 PM

Company Name	Total Bid Amount
Optimum Construction Inc Portland, ME	\$2,228,630.39
BenchMark - Westbrook, ME	\$2,243,186.00
Great Falls Construction - Gorham, ME	\$2,297,773.00
Ganneston Construction - Augusta, ME	\$2,353,531.00
Doten's Construction - Freeport, ME	\$2,648,671.89



York Vehicle Storage Garage 04/18/2024 1:00:00 PM

Optimum Construction Inc. Portland, ME

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
203.2	COMMON EXCAVATION CY	CY	100.00	27.30	\$2,730.00
203.2312	HEALTH & SAFETY PLAN LS 1	LS	1.00	15067.50	\$15,067.50
203.2333	DISPOSAL/TREATMENT OFSPECIAL EXCAVATION	Т	50.00	193.20	\$9,660.00
203.2334	DISPOSAL/TREATMENT OFGROUNDWATER	GAL	500.00	6.30	\$3,150.00
203.25	GRANULAR BORROW CY	CY	100.00	38.85	\$3,885.00
613.13	BULLDOZER (INCLUDING OPERATOR)	HOURS	20.00	250.95	\$5,019.00
631.12	EXCAVATOR (INCLUDING OPERATOR)	HOURS	20.00	309.75	\$6,195.00
631.172	TRUCK - LARGE (INCLUDING OPERATOR)	HOURS	20.00	150.15	\$3,003.00
631.22	FRONT END LOADER (INCLUDING OPERATOR)	HOURS	20.00	121.80	\$2,436.00
631.36	FOREMAN HOURS	HOURS	20.00	99.75	\$1,995.00
631.37	CONSTRUCTION LABORER HOURS	HOURS	20.00	68.25	\$1,365.00
800.01	VEHICLE STORAGE GARAGE LS 1	LS	1.00	2174124.89	\$2,174,124.89
800.02	MOBILIZATION & DEMOBILIZATION	LS	1.00	0.00	\$0.00
Total Bid			\$2,228,630.39		



York Vehicle Storage Garage 04/18/2024 1:00:00 PM

BenchMark Westbrook, ME

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
203.2	COMMON EXCAVATION CY	CY	100.00	24.00	\$2,400.00
203.2312	HEALTH & SAFETY PLAN LS 1	LS	1.00	5000.00	\$5,000.00
203.2333	DISPOSAL/TREATMENT OFSPECIAL EXCAVATION	Т	50.00	270.00	\$13,500.00
203.2334	DISPOSAL/TREATMENT OFGROUNDWATER	GAL	500.00	20.00	\$10,000.00
203.25	GRANULAR BORROW CY	CY	100.00	36.00	\$3,600.00
613.13	BULLDOZER (INCLUDING OPERATOR)	HOURS	20.00	140.00	\$2,800.00
631.12	EXCAVATOR (INCLUDING OPERATOR)	HOURS	20.00	225.00	\$4,500.00
631.172	TRUCK - LARGE (INCLUDING OPERATOR)	HOURS	20.00	116.00	\$2,320.00
631.22	FRONT END LOADER (INCLUDING OPERATOR)	HOURS	20.00	160.00	\$3,200.00
631.36	FOREMAN HOURS	HOURS	20.00	75.00	\$1,500.00
631.37	CONSTRUCTION LABORER HOURS	HOURS	20.00	60.00	\$1,200.00
800.01	VEHICLE STORAGE GARAGE LS 1	LS	1.00	2183166.00	\$2,183,166.00
800.02	MOBILIZATION & DEMOBILIZATION	LS	1.00	10000.00	\$10,000.00
Total Bid			\$2,243,186.00		



York Vehicle Storage Garage 04/18/2024 1:00:00 PM

Great Falls Construction Gorham, ME

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
203.2	COMMON EXCAVATION CY	CY	100.00	28.00	\$2,800.00
203.2312	HEALTH & SAFETY PLAN LS 1	LS	1.00	15539.00	\$15,539.00
203.2333	DISPOSAL/TREATMENT OFSPECIAL EXCAVATION	Т	50.00	193.00	\$9,650.00
203.2334	DISPOSAL/TREATMENT OFGROUNDWATER	GAL	500.00	5.00	\$2,500.00
203.25	GRANULAR BORROW CY	CY	100.00	40.00	\$4,000.00
613.13	BULLDOZER (INCLUDING OPERATOR)	HOURS	20.00	250.00	\$5,000.00
631.12	EXCAVATOR (INCLUDING OPERATOR)	HOURS	20.00	338.00	\$6,760.00
631.172	TRUCK - LARGE (INCLUDING OPERATOR)	HOURS	20.00	150.00	\$3,000.00
631.22	FRONT END LOADER (INCLUDING OPERATOR)	HOURS	20.00	122.00	\$2,440.00
631.36	FOREMAN HOURS	HOURS	20.00	100.00	\$2,000.00
631.37	CONSTRUCTION LABORER HOURS	HOURS	20.00	67.00	\$1,340.00
800.01	VEHICLE STORAGE GARAGE LS 1	LS	1.00	2232744.00	\$2,232,744.00
800.02	MOBILIZATION & DEMOBILIZATION	LS	1.00	10000.00	\$10,000.00
Total Bid			\$2,297,773.00		



York Vehicle Storage Garage 04/18/2024 1:00:00 PM

Ganneston Construction Augusta, ME

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
203.2	COMMON EXCAVATION CY	CY	100.00	25.00	\$2,500.00
203.2312	HEALTH & SAFETY PLAN LS 1	LS	1.00	14126.00	\$14,126.00
203.2333	DISPOSAL/TREATMENT OFSPECIAL EXCAVATION	Т	50.00	175.00	\$8,750.00
203.2334	DISPOSAL/TREATMENT OFGROUNDWATER	GAL	500.00	5.00	\$2,500.00
203.25	GRANULAR BORROW CY	CY	100.00	36.00	\$3,600.00
613.13	BULLDOZER (INCLUDING OPERATOR)	HOURS	20.00	228.00	\$4,560.00
631.12	EXCAVATOR (INCLUDING OPERATOR)	HOURS	20.00	281.00	\$5,620.00
631.172	TRUCK - LARGE (INCLUDING OPERATOR)	HOURS	20.00	136.00	\$2,720.00
631.22	FRONT END LOADER (INCLUDING OPERATOR)	HOURS	20.00	111.00	\$2,220.00
631.36	FOREMAN HOURS	HOURS	20.00	91.00	\$1,820.00
631.37	CONSTRUCTION LABORER HOURS	HOURS	20.00	61.00	\$1,220.00
800.01	VEHICLE STORAGE GARAGE LS 1	LS	1.00	2293895.00	\$2,293,895.00
800.02	MOBILIZATION & DEMOBILIZATION	LS	1.00	10000.00	\$10,000.00
Total Bid			\$2,353,531.00		



York Vehicle Storage Garage 04/18/2024 1:00:00 PM

Doten's Construction Freeport, ME

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
203.2	COMMON EXCAVATION CY	CY	100.00	26.00	\$2,600.00
203.2312	HEALTH & SAFETY PLAN LS 1	LS	1.00	14691.04	\$14,691.04
203.2333	DISPOSAL/TREATMENT OFSPECIAL EXCAVATION	Т	50.00	182.00	\$9,100.00
203.2334	DISPOSAL/TREATMENT OFGROUNDWATER	GAL	500.00	5.20	\$2,600.00
203.25	GRANULAR BORROW CY	CY	100.00	37.44	\$3,744.00
613.13	BULLDOZER (INCLUDING OPERATOR)	HOURS	20.00	237.12	\$4,742.40
631.12	EXCAVATOR (INCLUDING OPERATOR)	HOURS	20.00	292.24	\$5,844.80
631.172	TRUCK - LARGE (INCLUDING OPERATOR)	HOURS	20.00	141.44	\$2,828.80
631.22	FRONT END LOADER (INCLUDING OPERATOR)	HOURS	20.00	115.44	\$2,308.80
631.36	FOREMAN HOURS	HOURS	20.00	94.64	\$1,892.80
631.37	CONSTRUCTION LABORER HOURS	HOURS	20.00	63.44	\$1,268.80
800.01	VEHICLE STORAGE GARAGE LS 1	LS	1.00	2532012.73	\$2,532,012.73
800.02	MOBILIZATION & DEMOBILIZATION	LS	1.00	65037.72	\$65,037.72
Total Bid			\$2,648,671.89		